Calcul littéral - Fonctions

Développer - Réduire

7xa= 6><a: ......... 12><a= ......... I1xa=...
ax4-= ax7= ax13= ax2,75=
3xax7= ax2x7-= §5><10><a= 5x32xa=

7x(a+2)=7xa +7x2 bx(a+10)=5x.... +5x .. 10x(2 +a)= ... X o + o X e
7x(a+10)= 8x(7 +a)= é x(a+b)=
9x(7a -3)= il 5x(4 -6a)= i é"x_ (7a -4b)=

8% (e ¥ )=8xa +8x7 9% (e ¥ )=9x5 +9xa eex (@ *.)=5xa +5x7

= 8a + b6 = i =
T (v )=Txa+5x7 S G T T I T IO N DY S EE TRV IS T
Q% (e *w)zax3 ax7 ax( . vi)7ax12vaxs LKLY Fax0 v ax7

8a +16= 8xa +8x2 5a +15= 5xa +5x ... 3a +12= ... xa +..x4
=8 x (... + o) =5 x (... +3) S X (e + o)
=8(a +...) =5( ... +o) R G + o)
vérification: 8(a+2)=8a+ 16 verif :5 (... * ... )=5a+15 vérif : 3 (... + o, )=3a+12
70 - 70= Tx o = T i 60 -54= 6x ... - bx..... i 8a-32= ..xa-..x4
T e X (e =) T e X (e SR ) T s X (e - )
=..(a - .. ) T (e ) T s [ =)
vérif = vérif vérif
8a +12= 4x2a +4x ... & i Oa +15= 5x2a +5x ... | 150 +12= 3% oo +3% 0
=4x(2a +...) =5 x (... o ) S X (e + o)
=4(2a +...) =5( ... +o) R G +o)
vérif  vérif :  vérif -
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